

Math 257/316 (Supplementary Exercises 1- not to be handed in)

Problem 1: (Sample Exercises): Find the general solution of the following equations:

a. $6y'' + y' - 2y = 0$, Exact solution is: $y(x) = C_1 e^{-\frac{2}{3}x} + C_2 e^{\frac{1}{2}x}$

b. $y^{(4)} - 3y'' - 4y = 0$, Exact solution is: $y(x) = C_1 \cos x + C_2 \sin x + C_3 e^{2x} + C_4 e^{-2x}$

c. $y'' - 3y' + 2y = 4e^x$, Exact solution is: $y(x) = -4xe^x - 4e^x + C_1 e^x + C_2 e^{2x}$

d. $x^2 y'' - 2xy' - 4y = 0$, Exact solution is: $y(x) = \frac{C_1}{x} + C_2 x^4$

e. $9x^2 y'' + 3xy' + y = 0$, Exact solution is: $y(x) = C_1 \sqrt{x} + C_2 \sqrt{x} \ln x$

f. $x^2 y'' + 3xy' + 2y = 0$, $y(1) = 1$, $y'(1) = -2$

$x^2 y'' + 3xy' + 2y = 0$

$y(1) = 1$, Exact solution is: $y(x) = \frac{1}{x} \cos(\ln x) - \frac{1}{x} \sin(\ln x)$
 $y'(1) = -2$

Problem 2: (Sample Exercise): Consider the following first order linear ODE:

$$(1 - x^2)y' - 2xy = 0 \tag{1}$$

The exact solution is: $y(x) = \frac{C_1}{(x-1)(x+1)}$

$$\frac{1}{1 - x^2}$$

$$= 1 + x^2 + x^4 + O(x^6)$$

a. Solve this differential equation using an integrating factor.

b. Expand the above solution in a Taylor series about the point $x_0 = 0$.

For what values of x does this series fail to converge?

c. Now assume a power series solution of the form $y(x) = \sum_{n=0}^{\infty} a_n x^n$. Substitute this series into the differential equation (1) and obtain a recursion for the coefficients a_n . Use this recursion to determine the series representation of solution. Compare this result to the series obtained in part b above. Is there any relationship between the points of divergence of the series and the coefficient $(1 - x^2)$ of the derivative in (1)?

PROBLEM 4: $L y = (1-x^2)y' - 2xy = [(1-x^2)y]' = 0$

(a) $(1-x^2)y = C$

$$y = \frac{C}{1-x^2}$$

(b) FROM THE GEOMETRIC SERIES $1 + r + r^2 + \dots = \frac{1}{1-r}$ $|r| < 1$

SUBSTITUTE $r = x^2$ INTO THE GEOMETRIC SERIES

$$\therefore \frac{1}{1-x^2} = 1 + x^2 + x^4 + \dots$$

$$y(x) = C(1 + x^2 + x^4 + \dots)$$

THE SERIES FAILS TO CONVERGE IF $|x| \geq 1$.

(c) $Ly = (1-x^2)y' - 2xy = 0$

Let $y(x) = \sum_{n=0}^{\infty} a_n x^n$, $xy = \sum_{n=0}^{\infty} a_n x^{n+1}$, $y' = \sum_{n=1}^{\infty} a_n n x^{n-1}$, $x^2 y' = \sum_{n=1}^{\infty} a_n n x^{n+1}$

Then $Ly = \sum_{n=1}^{\infty} a_n n x^{n-1} - \sum_{n=1}^{\infty} a_n n x^{n+1} - 2 \sum_{n=0}^{\infty} a_n x^{n+1} = 0$
 $= \sum_{n=1}^{\infty} a_n n x^{n-1} - \sum_{n=1}^{\infty} a_n (n+2) x^{n+1} - 2a_0 x^1 = 0$

Let us change the index in the first sum from $n-1 \rightarrow n+1$

Let $n-1 = m+1$ $n = m+2$ $n=1 \Rightarrow m=-1$

$\therefore \sum_{n=1}^{\infty} a_n n x^{n-1} = \sum_{m=-1}^{\infty} a_{m+2} (m+2) x^{m+1} = a_1 x^0 + a_2 x^1 + \sum_{m=1}^{\infty} a_{m+2} (m+2) x^{m+1}$

Now since m is a dummy index we can replace m by n in this sum

$\therefore Ly = a_1 x^0 + 2a_2 x^1 + \sum_{n=1}^{\infty} a_{n+2} (n+2) x^{n+1} - \sum_{n=1}^{\infty} a_n (n+2) x^{n+1} - 2a_0 x^1 = 0$

$\therefore Ly = a_1 x^0 + 2(a_2 - a_0) x^1 + \sum_{n=1}^{\infty} \{ a_{n+2} (n+2) - a_n (n+2) \} x^{n+1} = 0 \quad (*)$

Now since the powers of $x: 1, x, x^2, \dots$ are linearly independent and the sum of powers (*) above is zero the only possibility is that the coefficients are all zero

$x^0 \rightarrow a_1 = 0$

$x^1 \rightarrow a_2 = a_0$

$x^{n+1} \rightarrow a_{n+2} = a_n \quad n \geq 1$

$\therefore 0 = a_1 = a_3 = a_5 = \dots$ all vanish

and $a_0 = a_2 = a_4 = \dots$

Thus returning to the original series

$y(x) = a_0 \cdot 1 + a_2 x^2 + a_4 x^4 + \dots$

Note that the series diverges for $|x| \geq 1$, we note that the coefficient of the highest derivative y' vanishes at the point $|x|=1$ at which the series divergence starts